

ON THE L^p -DISCREPANCY OF CERTAIN SEQUENCES

L. KUIPERS

3960 Sierre, Switzerland

JAU-SHYONG SHIUE

University of Nevada, Las Vegas, NV 89154

(Submitted April 1986)

1. INTRODUCTION

Let (x_n) , $n = 1, 2, \dots$ be a sequence of real numbers contained in $[0, 1)$. Let $A([0, x]; N)$ be the number of x_n , $1 \leq n \leq N$, that lie in the subinterval $[0, x)$ of the unit interval. The number

$$D_N^{(p)} = \left(\int_0^1 \left| \frac{A([0, x]; N)}{N} - x \right|^p dx \right)^{1/p}, \dots, \quad (1)$$

where $1 \leq p < \infty$, is called the L^p -discrepancy of the given sequence ([2], p. 97).

As is well known, the notion of discrepancy is at the center of most theories in the area of uniform distribution (and other types of distributions as well) and quantitative aspects of certain limit passages are expressed by estimates of the discrepancy.

The following relation was given by Koksma [1] and by Niederreiter [3]:

$$(D_N^{(2)})^2 = \frac{1}{12N^2} + \frac{1}{N} \sum_{n=1}^N (x_n - s_n)^2, \dots, \quad (2)$$

where $0 \leq x_1 \leq x_2 \leq \dots \leq x_n \leq 1$ and $s_n = (2n - 1)/2N$.

In the following, we show (2) (for the sake of completeness) and consider the case $p = 4$. The proofs are given by elementary methods. Some sum formulas are established and only integration results are used.

2. THE CASE $p = 2$

To prove (2), the following lemma is useful.

Lemma 1: $\sum_{n=1}^N \sum_{m=1}^N \max(x_n, x_m) = \sum_{n=1}^N (2n - 1)x_n$, where $0 \leq x_1 \leq x_2 \leq \dots \leq x_n \leq 1$.

Proof: $\sum_{n=1}^N \sum_{m=1}^N \max(x_n, x_m) = \sum_{n=1}^N \left(\sum_{m=1}^N \max(x_n, x_m) \right) = \sum_{n=1}^N (2n - 1)x_n$,

since for any n there are n values of m satisfying $m \leq n$ taking care of the $2n$ pairs $(x_n, x_1), \dots, (x_n, x_n), (x_1, x_n), \dots, (x_n, x_n)$. But (x_n, x_n) is counted

twice, so for any n there are $2n - 1$ values of x_n .

Let $c(t, x_n) = \begin{cases} 0(x_n \geq t) \\ 1(x_n < t) \end{cases}$, $0 \leq t \leq 1$. Then

$$\begin{aligned} \int_0^1 \left(\sum_{n=1}^N c(t, x_n) \right)^2 dt &= \int_0^1 \sum_{n=1}^N \sum_{m=1}^N c(t, x_n) c(t, x_m) dt \\ &= \sum_{n=1}^N \sum_{m=1}^N \int_0^1 c(t, \max(x_n, x_m)) dt. \end{aligned}$$

Now we show (2). We have:

$$\begin{aligned} (ND_N^{(2)})^2 &= \int_0^1 \left| \sum_{n=1}^N c(t, x_n) - Nt \right|^2 dt \\ &= \int_0^1 \left(\sum_{n=1}^N c(t, x_n) \right)^2 dt - 2N \int_0^1 t \sum_{n=1}^N c(t, x_n) dt + N^2 \int_0^1 t^2 dt \\ &= \sum_{n=1}^N \sum_{m=1}^N \int_0^1 c(t, \max(x_n, x_m)) dt - 2N \int_0^1 t \sum_{n=1}^N c(t, x_n) dt + \frac{1}{3} N^2 \\ &= \sum_{n=1}^N \sum_{m=1}^N (1 - \max(x_n, x_m)) - 2N \sum_{n=1}^N \frac{1}{2} (1 - x_n^2) + \frac{1}{3} N^2 \\ &= N^2 - \sum_{n=1}^N \sum_{m=1}^N \max(x_n, x_m) - N \left(N - \sum_{n=1}^N x_n^2 \right) + \frac{1}{3} N^2 \\ &= \frac{1}{3} N^2 - \sum_{n=1}^N (2n - 1)x_n + N \sum_{n=1}^N x_n^2 \quad (\text{by Lemma 1}). \end{aligned}$$

Hence,

$$\begin{aligned} (D_N^{(2)})^2 &= \frac{1}{3} + \frac{1}{N} \sum_{n=1}^N \left(x_n^2 - \frac{2n-1}{N} x_n \right) = \frac{1}{3} + \frac{1}{N} \sum_{n=1}^N (x_n^2 - 2s_n x_n) \\ &= \frac{1}{3} + \frac{1}{N} \sum_{n=1}^N (x_n - s_n)^2 - \frac{1}{N} \sum_{n=1}^N s_n^2. \end{aligned}$$

Since

$$\sum_{n=1}^N s_n^2 = \sum_{n=1}^N \left(\frac{2n-1}{2N} \right)^2 = \frac{1}{4N^2} \sum_{n=1}^N (4n^2 - 4n + 1) = \frac{1}{4N^2} \left(\frac{4N^3}{3} - \frac{N}{3} \right),$$

we have

$$(D_N^{(2)})^2 = \frac{1}{N} \sum_{n=1}^N (x_n - s_n)^2 + \frac{1}{12N^2},$$

and this proves (2).

Corollary 1: $D_N^{(2)} \geq \frac{1}{2N\sqrt{3}}$; $D_N^{(2)} = \frac{1}{2N\sqrt{3}}$ iff $x_n = s_n$ ($n = 1, 2, \dots, N$).

Corollary 2: $D_N^{(2)} \leq \frac{1}{\sqrt{3}}$ if $x_n \leq \frac{2n-1}{N}$ ($n = 1, 2, \dots, N$).

Proof: $(D_N^{(2)})^2 = \frac{1}{3} + \frac{1}{N} \sum_{n=1}^N x_n \left(x_n - \frac{2n-1}{N} \right)$; hence,

$$(D_N^{(2)}) \leq \frac{1}{3} \text{ if } x_n \leq \frac{2n-1}{N} \quad (n = 1, 2, \dots, N).$$

3. THE CASE $p = 4$

We shall use the following lemma.

Lemma 2: Let $0 \leq x_1 \leq x_2 \leq \dots \leq x_N \leq 1$. Then,

$$\sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max^2(x_n, x_m, x_\ell) = \sum_{n=1}^N (3n^2 - 3n + 1)x_n^2.$$

Proof: $\sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max^2(x_n, x_m, x_\ell) = \sum_{n=1}^N \sum_{m=1}^N (2m-1) \max^2(x_n, x_m)$

$$= 2 \sum_{n=1}^N \sum_{m=1}^N m \max^2(x_n, x_m) - \sum_{n=1}^N \sum_{m=1}^N \max^2(x_n, x_m).$$

Now, $\sum_{n=1}^N \sum_{m=1}^N \max^2(x_n, x_m) = \sum_{n=1}^N (2n-1)x_n^2$ (by Lemma 1).

$$\begin{aligned} \sum_{n=1}^N \sum_{m=1}^N m \max^2(x_n, x_m) &= \sum_{n=1}^N [2\{1 + 2 + \dots + (n-1)\} + n]x_n^2 \\ &= \frac{1}{2} \sum_{n=1}^N n(3n-1)x_n^2. \end{aligned}$$

Hence, we have

$$\sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max^2(x_n, x_m, x_\ell) = \sum_{n=1}^N (3n^2 - 3n + 1)x_n^2.$$

Corollary of Lemma 2:

$$\sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max(x_n, x_m, x_\ell) = \sum_{n=1}^N (3n^2 - 3n + 1)x_n.$$

Lemma 3: Let $0 \leq x_1 \leq x_2 \leq \dots \leq x_N \leq 1$. Then,

$$\sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \sum_{u=1}^N \max(x_n, x_m, x_\ell, x_u) = \sum_{n=1}^N (4n^3 - 6n^2 + 4n - 1)x_n.$$

Proof: First we consider

$$\sum_{n=1}^N \sum_{m=1}^N m^2 \max(x_n, x_m) = \sum_{n=1}^N \left(\sum_{m=1}^N m^2 \max(x_n, x_m) \right).$$

Keeping n fixed, we have to take the pairs $(x_1, x_n), \dots, (x_n, x_n), (x_n, x_1), \dots, (x_n, x_{n-1})$ into consideration; the maximums of the first set must be multiplied by n^2 , those of the right set by $1^2, 2^2, \dots, (n-1)^2$, respectively. Hence,

$$\sum_{n=1}^N \left(\sum_{m=1}^N m^2 \max(x_n, x_m) \right) = \sum_{n=1}^N \left\{ \frac{1}{6}(n-1)n(2n-1) + n^3 \right\} x_n.$$

So we have

$$\begin{aligned} & \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \sum_{u=1}^N \max(x_n, x_m, x_\ell, x_u) \\ &= \sum_{n=1}^N \sum_{m=1}^N (3m^2 - 3m + 1) \max(x_n, x_m) \quad (\text{by the Corollary of Lemma 2}) \\ &= 3 \sum_{n=1}^N \sum_{m=1}^N m^2 \max(x_n, x_m) - 3 \sum_{n=1}^N \sum_{m=1}^N m \max(x_n, x_m) + \sum_{n=1}^N \sum_{m=1}^N \max(x_n, x_m) \\ &= 3 \sum_{n=1}^N \left\{ \frac{1}{6}n(n-1)(2n-1) + n^3 \right\} x_n - 3 \sum_{n=1}^N \frac{1}{2}n(3n-1)x_n + \sum_{n=1}^N (2n-1)x_n \\ &= \sum_{n=1}^N (4n^3 - 6n^2 + 4n - 1)x_n. \end{aligned}$$

Lemma 4: $1^3 + 2^3 + \dots + N^3 = \frac{1}{4} N^2 (N + 1)^2,$

$$1^4 + 2^4 + \dots + N^4 = \frac{1}{30} N(N + 1)(2N + 1)(3N^2 + 3N - 1).$$

Theorem: Let $0 \leq x_1 \leq x_2 \leq \dots \leq x_N \leq 1.$ Then,

$$(D_N^{(4)})^4 = \frac{1}{N} \sum_{n=1}^N \left\{ (x_n - s_n)^4 + \frac{1}{2N^2} (x_n - s_n)^2 \right\} + \frac{1}{80N^4}, \text{ where } s_n = \frac{2n-1}{2N}.$$

Proof: First, we have

$$\begin{aligned} -4N^3 \sum_{n=1}^N \int_0^1 c(t, x_n) t^3 dt &= -4N^3 \int_0^1 \sum_{n=1}^N c(t, x_n) t^3 dt \\ &= -4N^3 \sum_{n=1}^N \int_{x_n}^1 t^3 dt = -N^3 \sum_{n=1}^N (1 - x_n^4) \\ &= -N^4 + N^3 \sum_{n=1}^N x_n^4. \end{aligned}$$

Second, we have

$$\begin{aligned} 6N^2 \sum_{n=1}^N \sum_{m=1}^N \int_0^1 t^2 c(t, \max(x_n, x_m)) dt &= 6N^2 \sum_{n=1}^N \sum_{m=1}^N \left[\frac{1}{3} t^3 \right]_{\max(x_n, x_m)}^1 \\ &= 6N^2 \sum_{n=1}^N \sum_{m=1}^N \left(\frac{1}{3} - \frac{1}{3} (\max(x_n, x_m))^3 \right) = 6N^2 \left(\frac{N^2}{3} - \frac{1}{3} \sum_{n=1}^N \sum_{m=1}^N (\max(x_n, x_m))^3 \right) \\ &= 2N^4 - 2N^2 \sum_{n=1}^N \sum_{m=1}^N \max^3(x_n, x_m). \end{aligned}$$

Hence,

$$(ND_N^{(4)})^4 = \int_0^1 \left\{ \sum_{n=1}^N c(t, x_n) - Nt \right\}^4 dt$$

(continued)

ON THE L^p -DISCREPANCY OF CERTAIN SEQUENCES

$$\begin{aligned}
 &= \int_0^1 \left(\sum_{n=1}^N c(t, x_n) \right)^4 dt - 4N \int_0^1 t \left(\sum_{n=1}^N c(t, x_n) \right)^3 dt - 4N^3 \int_0^1 t^3 \sum_{n=1}^N c(t, x_n) dt \\
 &\quad + 6N^2 \int_0^1 t^2 \left(\sum_{n=1}^N c(t, x_n) \right)^2 dt + N^4 \int_0^1 t^4 dt \\
 &= \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \sum_{u=1}^N \int_0^1 c(t, \max(x_n, x_m, x_\ell, x_u)) dt - 4N^3 \sum_{n=1}^N \int_0^1 c(t, x_n) t^3 dt \\
 &\quad + 6N^2 \sum_{n=1}^N \sum_{m=1}^N \int_0^1 c(t, \max(x_n, x_m)) t^2 dt \\
 &\quad - 4N \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \int_0^1 t c(t, \max(x_n, x_m, x_\ell)) dt + \frac{1}{5} N^4 \\
 &= \frac{1}{5} N^4 - N^4 + N^3 \sum_{n=1}^N x_n^4 + 2N^4 - 2N^2 \sum_{n=1}^N \sum_{m=1}^N \max^3(x_n, x_m) \\
 &\quad - 2N^4 + 2N \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max^2(x_n, x_m, x_\ell) \\
 &\quad + N^4 - \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \sum_{u=1}^N \max(x_n, x_m, x_\ell, x_u) \\
 &= \frac{1}{5} N^4 + N^3 \sum_{n=1}^N x_n^4 - 2N^2 \sum_{n=1}^N \sum_{m=1}^N \max^3(x_n, x_m) \\
 &\quad + 2N \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \max^2(x_n, x_m, x_\ell) \\
 &\quad - \sum_{n=1}^N \sum_{m=1}^N \sum_{\ell=1}^N \sum_{u=1}^N \max(x_n, x_m, x_\ell, x_u) \\
 &= \frac{1}{5} N^4 + N^3 \sum_{n=1}^N x_n^4 - 2N^2 \sum_{n=1}^N (2n-1)x_n^3 \\
 &\quad + 2N \sum_{n=1}^N (3n^2 - 3n + 1)x_n^2 - \sum_{n=1}^N (4n^3 - 6n^2 + 4n - 1)x_n.
 \end{aligned}$$

Hence,

$$\begin{aligned}
 (D_N^{(4)})^4 &= \frac{1}{5} + \frac{1}{N} \sum_{n=1}^N \left(x_n^4 - \frac{2(2n-1)}{N} x_n^3 + \frac{2(3n^2 - 3n + 1)}{N^2} x_n^2 \right. \\
 &\quad \left. - \frac{4n^3 - 6n^2 + 4n - 1}{N^3} x_n \right) \\
 &= \frac{1}{5} + \frac{1}{N} \sum_{n=1}^N \left((x_n - s_n)^4 + \frac{1}{2N^2} (x_n - s_n)^2 \right) - \frac{1}{N} \sum_{n=1}^N \left(s_n^4 + \frac{s_n^2}{2N^2} \right).
 \end{aligned}$$

Now,

$$\begin{aligned}
 \sum_{n=1}^N \left(s_n^4 + \frac{s_n^2}{2N^2} \right) &= \sum_{n=1}^N \left(\left(\frac{2n-1}{2N} \right)^4 + \frac{(2n-1)^2}{8N^4} \right) \\
 &= \frac{1}{16N^4} \sum_{n=1}^N (16n^4 - 32n^3 + 32n^2 - 16n + 3) \\
 &= \frac{1}{16N^4} \left(16 \sum_{n=1}^N n^4 - 32 \sum_{n=1}^N n^3 + 32 \sum_{n=1}^N n^2 - 16 \sum_{n=1}^N n + \sum_{n=1}^N 3 \right)
 \end{aligned}$$

$$= \frac{1}{16N} \left(\frac{16}{5} N^5 - \frac{1}{5} N \right).$$

Finally,

$$\begin{aligned} (D_N^{(4)})^4 &= \frac{1}{5} + \frac{1}{N} \sum_{n=1}^N \left((x_n - s_n)^4 + \frac{1}{2N^2} (x_n - s_n)^2 \right) - \frac{1}{N} \cdot \frac{1}{16N^4} \left(\frac{16N^5}{5} - \frac{N}{5} \right) \\ &= \frac{1}{N} \sum_{n=1}^N \left((x_n - s_n)^4 + \frac{1}{2N^2} (x_n - s_n)^2 \right) + \frac{1}{80N^4}. \end{aligned}$$

Corollary 1: $D_N^{(4)} \geq \frac{1}{2N\sqrt[4]{5}}$; $D_N^{(4)} = \frac{1}{2N\sqrt[4]{5}}$ iff $x_n = s_n$ ($n = 1, 2, \dots, N$).

Corollary 2: $D_N^{(4)} \leq \frac{1}{\sqrt[4]{5}}$ if $x_n \leq \frac{2n-1}{N}$.

Proof: $(D_4^{(4)})^4 = \frac{1}{5} + \frac{1}{N} \sum_{n=1}^N \left\{ x_n \left(x_n - \frac{2n-1}{N} \right) \left(x_n^2 - \frac{2n-1}{N} x_n + \frac{2n^2 - 2n + 1}{N^2} \right) \right\}$.

Now, $x_n - \frac{2n-1}{N} x_n + \frac{2n^2 - 2n + 1}{N^2} = \left(x_n - \frac{2n-1}{2N} \right)^2 + \frac{4n^2 - 4n + 3}{4N^2} > 0$.

Hence, $D_4^{(4)} \leq \frac{1}{\sqrt[4]{5}}$.

ACKNOWLEDGMENT

The authors are indebted to the referee for many helpful suggestions.

REFERENCES

1. J. F. Koksma. "Eenige integralen in de theorie der gelijkmatige verdeling modulo 1." *Mathematica B* (Zutphen) 11 (1942/1943):49-52.
2. L. Kuipers & H. Niederreiter. *Uniform Distribution of Sequences*. New York-London-Sydney-Toronto: Interscience-Wiley, 1974.
3. H. Niederreiter. "Application of Diophantine Approximations to Numerical Integration," in *Diophantine Approximation and Its Applications*, ed. C. F. Osgood, pp. 129-199. New York: Academic Press, 1973.

◆◆◆◆